The Judiciary Multiple Choice Test 6 

1.
When does the first Amendment not protect free speech?

A)
Speaking out to violate Federal law during wartime

B)
Speaking out against the Government during war

C)
Both A and B

D)
None of the above

2.
What political party did Charles Schenck belong to?

A)
Free Soil

B)
Progressive

C)
Communist

D)
Socialist

3.
Which of the following is not free speech

A)
Speech creating a clear and present danger 

B)
Falsely shouting fire in a theater

C)
Both A and B

D)
None of the above

4.
At what age did FDR want to add an extra Justice?

A)
65

B)
70

C)
70 ½ 

D)
72 ½

5.
Why did FDR want to add new Justices to the Supreme Court?

A)
The Supreme Court overturned many New Deal measures 

B)
The Supreme Court had grown too powerful

C)
He feared a loss of many elderly Justices

D)
He felt old Justices were out of touch

6.
What two events stopped FDR’s plan?

A)
Justice Roberts approved his legislation

B)
"switch in time that saved nine"

C)
The Senate chose not to advance the bill

D)
All of the above

7.
How did Eisenhower feel about nominating Warren for the Chief Justice?

A)
Content

B)
Proud

C)
Uncertain

D)
Foolish

8.
Which was not an accomplishment of the Warren Court?

A)
Executive privilege

B)
Expanded civil rights

C)
Civil liberties

D)
End of segregation

9.
How did Justice Felix Frankfurter describe the Constitution?

A)
Living

B)
A vessel

C)
Water

D)
Static

10.
What did Justice Frankfurter mean by, "In a democratic society like ours, relief must come through an aroused popular conscience that sears the conscience of the people's representatives?"

A)
People must work to keep the laws

B)
Congress must make and enforce the laws

C)
Both A and B

D)
None of the above

11.
Which Supreme Court decision did Brown v Board of Education overturn?

A)
Plessy v Ferguson

B)
US v Cruickshank

C)
Marbury v. Madison

D)
None of the above

12.
What was Brown v Board of Education about?

A)
School segregation

B)
Public segregation

C)
Bussing

D)
Public bathrooms

13.
What did Brown v Board end?

A)
Separate but equal

B)
Forced segregation of schools

C)
Both A and B

D)
None of the above

14.
Why is the right to the assistance of counsel a fundamental right?

A)
Essential for a fair trial

B)
Necessary for due process of law 

C)
Both A and B

D)
None of the above

15.
Why a suspect does have a right to an attorney?

A)
Coerced confession inadmissible under the Fifth Amendment

B)
Suspect may not waive is rights

C)
Both A and B

D)
None of the above

16.
Define miscegenation.

A)
Same sex marriage

B)
Inter-racial marriage

C)
Incest

D)
Bad conduct toward women

17.
Why was Virginia's anti-miscegenation law in violation of the Constitution?

A)
The Commerce Clause

B)
The Due Process Clause

C)
Both A and B

D)
None of the above

18.
What are states not allowed to do with Supreme Court decisions?

A)
Ignore them

B)
Over-rule them

C)
Pass state laws against them

D)
All of the above

19.
What kind of abuse does a state cause by not desegregating?

A)
Violation of the Equal Protection Clause

B)
Depriving students their equal rights under the law

C)
Both A and B

D)
None of the above

20.
Why did the Supreme Court rule that states could not ban birth control?

A)
A woman’s right to choose

B)
Right to marital privacy

C)
FDA approved

D)
All of the above

21.
What clause in the Constitution did government-directed prayer violate?

A)
Due Process Clause

B)
Commerce Clause

C)
The Establishment Clause 

D)
Equal Protection Clause

22.
How did President John F Kennedy respond to the ruling?

A)
Ruling did not restrict Catholics

B)
People can pray anyway

C)
People should pray more at home and in church 

D)
All of the above

23.
What political role did the court assume in the 1962 case of Baker v Carr?

A)
Voting regulations

B)
Jim Crow Laws

C)
Political district apportionments

D)
Poll Taxes

24.
What does “one person, one vote" mean?

A)
Voting districts must be equal in size 

B)
People can only vote once

C)
All registered voters may vote

D)
None of the above

25.
In Reynolds v Sims, how big was the difference in some districts?

A)
10 times

B)
20 times

C)
41 times

D)
81 times

26.
Why did Chief Justice Earl Warren say "Legislators represent people, not trees or acres Legislators are elected by voters, not farms or cities or economic interests"

A)
All people have the right to vote

B)
Voting can not be based on other factors

C)
State legislative districts were not equal in size 

D)
None of the above

27.
What was not a key decision of the Burger Court?

A)
Abortion

B)
Racial quotas

C)
Religious establishment

D)
None of the above

28.
What is the central argument of Roe v Wade?

A)
Marital privacy

B)
A woman’s right to privacy 

C)
Due process

D)
Equal protection

29.
At this time, when may a woman abort her pregnancy?

A)
Anytime

B)
When the fetus becomes a person

C)
When the doctor knows it is safe

D)
When  the fetus becomes viable

30.
What did the Supreme Court rule regarding University entry requirements?

A)
Set mandatory quotas for all races

B)
Outlawed additional qualifying factors

C)
Barred entry quotas for college admissions 

D)
None of the above

31.
How did the Supreme Court rule on affirmative action programs?

A)
Race could be used as a plus factor

B)
Race always determines eligibility

C)
All races must have equal admissions

D)
Race may not be used in admission

32.
What did the Supreme Court decide about executive privilege?

A)
Not be used in cases of criminal conspiracy 

B)
Only be used by the President of the United States

C)
The breadth of national security is wide

D)
Only in Presidential cases that are general

33.
What is the “Lemon test” used for?

A)
Legislation concerning secular action

B)
Legislation regarding churches

C)
Legislation concerning religion

D)
Legislation regarding automobiles

34.
Which is not part of  the Lemon test

A)
The government's action must have a secular legislative purpose

B)
The government's action must inhibit religion

C)
No excessive government entanglement" with religion

D)
None of the above

35.
What is the “Miller test” used for?

A)
To determine obscenity

B)
To determine decency

C)
To determine free speech

D)
None of the above

36.
What were the Pentagon Papers?

A)
Government documents concerning the war in Vietnam

B)
Government documents exposing corruption

C)
Secret military plans

D)
Papers exposing indecency of military officials

Who was the defendant for the Pentagon papers?

A)
The New York Times 

B)
The Washington Post

C)
The US government 

D)
The Joint Chiefs of Staff

37.
What part of the Constitution was used for the  Pentagon Papers?

A)
Equal Protection Clause

B)
Commerce Clause

C)
First Amendment rights

D)
Civil Rights

38.
What constitutes sexual harassment in the work place?

A)
Severe and pervasive acts

B)
Actions creating a hostile or abusive working environment

C)
Unwelcome actions

D)
All of the above

39.
Burning or intentionally damaging the flag

A)
Flag desecration

B)
Flag defilement

C)
Disrespecting the flag

D)
Disregard the Flag

40.
Why is flag desecration not illegal?

A)
First Amendment rights

B)
Expressive conduct

C)
Both A and B

D)
None of the above

41.
Why can’t the commerce clause be used to prevent firearms at a school?

A)
Students are not old enough to buy firearms

B)
Not directly linked to the economy

C)
A limitation on the sale of firearms hurts the economy

D)
None of the above

42.
Why did the Supreme Court decide against outlawing partial birth abortions?

A)
A woman’s right to choose

B)
Undue burden of law

C)
Both A and B

D)
None of the above

43.
How did the Supreme Court decide on The Partial-Birth Abortion Ban Act?

A)
It was constitutional

B)
It was unconstitutional

C)
Parts of the law needed to be changes

D)
It is still pending

44.
What did the Supreme Court say about a sitting president and civil law litigation?

A)
The President is not immune from suits from past actions

B)
The President may wait until the end of the term to answer law suits

C)
Both A and B 

D)
None of the above

45.
What was key in the decision regarding the Florida election results of 2000?

A)
Jeb Bush was the Governor of Florida

B)
The Florida secretary of State was also the Republican Chairperson

C)
The method of recount was declared unconstitutional 

D)
All of the above

46.
How did the Supreme Court rule about free speech for government employees?

A)
Not protected

B)
Protected

C)
Only Political speech is protected

D)
Only Speech directly related to the job is protected

47.
How did the Court rule on evidence found during “knock and announce?” 

A)
Evidence found may not me used in court

B)
Evidence found may be used in court

C)
Only evidence listed in the search warrant may be used in court

D)
Evidence turned over by the suspect may be used in court

48.
How did the Court rule on the Kansas death penalty?

A)
It is constitutional

B)
It is unconstitutional

C)
Constitutional because it is lethal injection

D)
Must Change from lethal injection to be constitutional

49.
What is the meaning of an “unspoken norm of consensus”

A)
Justices felt pressured to go along

B)
Justices want to concur with the President

C)
The Supreme Court wanted to vote unanimously

D)
All of the above

50.
How often did the Warren, Burger and Rehnquist Courts vote unanimously?

A)
Almost 40% of the time

B)
Almost half of the time

C)
Less than 20% of the time

D)
Less than 30% of the time

51.
What has happened to unanimous ruling under Justice Roberts?

A)
Increased

B)
Decreased

C)
Stayed the same

D)
No pattern established

52.
Since 1953, under which Chief Justice have unanimous decisions been the highest?

A)
Burger

B)
Rehnquist

C)
Warren

D)
Roberts
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